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Mathematlcs 2602
Quiz 6
Prof. Margalit
18 October 2011

L Consider the following graph:

| 1

| i

) 4

Decide whether or not each of the following three graphs is isomorphic to the above graph.

1f the graph is not isomorphic, give a reason, and if it is, exhibit an explicit isomorphism.

No 'l the degree doquents of G is (43,%,2,2)
bot e iaqrw sequoncg oC A s (&Y, 2, 2.2)

e

Ve Let Ube « (1) =1
bl =4
£

! i o 4 (3) =

g ey = 5 (Twee calibe
G (5) =5 . oter C5omephisms )

Nos Cr bws F edges, but C lins § odees.
' (\{od com aleo ol dJmm{- Hgir Jeﬂree, 5@6]\1%6%)
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